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Mock Aptitude Test Paper-l

Instructions: l) Answer all 25 Questions
2) Answer in Answer Sheet Only
3) Use rough sheets for working
4) Write your USN, Name, Branch, and Semester in Answer Sheet
5) Each question carries one Mark

Durations:75 min

l) A shopkeeper marks the price ofhis goods l2% higher than the original price. After that he allows a

discount of l2%. What is his profit or loss?

2) In an examination,50% students failed in English and4}Yoin Maths and llYo students failed in both

subjects. If 200 students passed in both the subjects, find the number of students appeared in the

exam.

3) In an election between A and B, A wins by a margin of 240 votes. If A gets 60% of the total votes,

how many total votes are there?

4) The population of shrirampur was l, 00,000 three years ago. If it increased by 2%o,3%o and 5o/o

respectively in the last three years, then the present population ofthe town is?

5) It takes 4 hours for a 300km joumey, if 60kms is done by train and rhe rest by car. It takes l0

minutes more, if lOOkms is done by train and rest by car. The ratio ofthe speed ofthe train to that of
the car is?

6) In I hour a boat goes lOkm along the stream and 4 km against the stream. What is the speed ofthe

boat in still water?

7) A boat goes l4km upstream in 56 minutes. The speed of stream is 2kmlhr. The speed of stream is

2km/hr. Find the speed ofboat in still water.

8) A man takes twice as long to row a distance against the stream as to row the same distance in favor

ofthe stream. The ratio ofthe speed ofthe boa(in still wate, and the stream is:

9) A boatman starts ftom point A at I l:00 am and travels downstream to point B, stays there for an

hour and returns to point A at 4:00pm. If the speed ofthe boat and stream are l2kmph and 3kmph

respectively, ftnd the distance between A and B.

l0)A train running at 25 km/hr takes 18 seconds to pass a platform. Next, it takes 12 seconds to pass a

man walking at 5 km/hr in the opposite direction. Find the length of platform.

I l) What is the value ofx and y from a number 43x55y ifwhole number is divisible by 36?

12)What is the value ofx and y from a number 23x45y ifthe whole number is divisible by 90?

13)How many 6 digits number are there which is divisible by I I?

l4) What sum will produce Rs. 5000 interest in 5l/4 years at 3l12 o/o simple interest?
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l5) A person deposits Rs. 4000 in a ba,* at 3%o p.q Rs. g000 at Tyo p.aand 12000 at r5% p.a. Find tho

rate of interest for whole sum.

l6)The rate of interest for the first year is 3oz per annum and for the next 2 years is 5oz per annum, for
next 4 years is 9oz per annum, and for the period beyond 7 years r5o/op.a. Ifa man gets rs. 15000 as

simple interest for 8 years" how much money did he deposit?.

l7) The compound interest on any sum at the rate of 5oz for 2 years is Rs. 5 12.50. Find the sum

1 8) Rs 125000 is borrowed at CI at the rate o f 2Yo for the I 'r year, 3olo for the 2nd year and 4% for the 3'd

year. Find the amount to be paid after 3 years.

l9)A sum of money placed at CI thrice itself in 4 years. In how many years will it amount to 27 times

itsell?

20)Rs. 15000 is borrowed at cI atthe tute of 7yo wr annum. what is the ratio among the times taken by

these cars to Aavel the same distance?

2l ) Divide Rs. 625 among a,b,c,d in the ratio l:4:5:6:9.

22)The speed ofthrce cars are in the ratio 2: 3 : 4. What is the ratio among the times taken by these cars

to travel the same distance?

23)If A:B:5:7 and B:Cd:ll then find A:B:C.

24) lf lE/o of X:20% of Y then X:Y is equal to?

25) Salaries ofsheetal and seema are in the ratio 3:4. Ifthe salary ofeach increased by Rs. 5000, the new

ratio becomes 35:45, What is sheetal's present salary?
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Mock Test paper_l C language

Instructions: l) Answer all 24 euestions
2) Answer in Answer Sheet Only
3) Use rough sheets for working
4) Write your USN, Name, Branch, and Semester in Answer Sheet
5) Each question carries one Mark

@ ^t^s
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Durations:60 min

l) Which of the following is not a valid C variable
name?

a) int number;

b) float rate;

c) int variab le_count;
d) int $main;

2) Which of the following is true for vadable
names in C?

a) They can contain alphanumeric characters as
well as special characters

b) It is not an enor to declare a variable to be one
ofthe keywords(like goto, static)

c) Variable names cannot stan with a digit
d) Variable can be ofany length

3) Which of the following declaration is not
supported by C language?

a) String str;
b) char rstr;

c) float sh = 3e2;

d) Both String str; & floar str = 3e2;

4) What is #include <stdio.h>?

a) Preprocessor directive
b) Inclusion directive
c) File inclusion directive
d) None ofthe mentioned

5) How many number ofpointer (i) does C have
against a pointer variable declaration?

a)7
b) tzt
c) 2s5
d) No limirs

b) Rectangular Array
c) Cuboidal Array
d) Multidimensional Array

7) What is the sizeo(char) in a 32-bit C compiler?
a) I bit
b) 2 bits
c) I Byte
d) 2 Bytes

8) scanf0 is a predefined function in header
filc.

a) stdlib. h

b) ctype. h
c) stdio. h

d) stdarg. H

9).W^hat will be the ouput of the following C
code?

#include <stdio.h>
int main0

{
int y = 16OOr.

int Y = 34'
print("Hello Worldl Zod\n", y);
retum 0;

)
a) Compile time enor
b) Hello World! 34
c) Hello World! 1000

d) Hello World! followed by a junk value

l0) What will happen if the following C code is
executed?

#include <stdio.h>

int main0

{

int main : 3;
printf("%d", main);

=

6) Which of rhe following is nor possible statically
in C language?

a) Jagged Array

PRINCIPAL
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retum 0;

)
a) It will cause a compile-time error
b) It will oause o run-timc crror
c) It will run without any error and prints 3

d) It will experience infinite looping

ll) What will be the output of the following C
code?

#include <stdio.h>

int main0

{
signed char chr;
chr : 128;

printf("%od\n", chr);
return 0;

)
a) 128

b) -128

c) Depends on the compiler
d) None ofthe mentioned

12) What will be the output of the following C
code on a 64 bit machine?

#include <stdio.h>

union Sti

{
int nu;

char m;

);
int maino

t
union Sti s;

printf("70d", sizeof(s));
retum 0;

)
a)8
b)5
c)9
d)4

13) What will be the output of the following C
function?

#include <stdio.h>
enum birds {SPARROW, PEACOCK,
PARROT);
enum animals {TIGER = 8, LION, RABBIT,
ZEBRA};
int mainQ

{
enumbirdsm=TIGER;
int k;

k=m:
print("o/od\n", k);

return 0;

a)0
b) Conrpile time error
c)l
d)8

l4) What will be the final value of x in the
following C code?

#include <stdio.h>

void main0

{

intx=5*9/3+9|
)

a) 3.75

b) Depends on compiler
c) 24

d)3

15) What will be the output of the following C
code? (Initial values: x= Z y = 8)

#include <stdio.h>

void mainQ

{
float x;
int y;
print("enter two numbers \n',, x);
scan("%f %f', &rq &y);
Print("%[ o/d",x,Y);

)
a) 7.000000,7

b) Run time error
c) 7.000000,junk
d) Varies

l6) What will be the output of the following C
code considering the size ofa short int is 2, char is
I and int is 4 bytes?

#include <stdio.h>

int main0

{

short int i= 20;

char c = 97'
pr i n t f( "%d, o/d, %od\n", s izeof(i ), s izeo f(c).

sizeof(c + i));
return 0;

)
a) 2, 1,2
b)2, r, r

c)2, 1,4
d) 2,2,8

a
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l7) What will be the output ofthe following C
function?

#include <stdio.h>
void rcversc(int i);
int maino

{
reverse( l);

)'
void reverse(int i)
(

if (i > 5)
refum ;

print(,,7d ", i);

-. 
return rcverse((i++, i))i

,
a)12345
b) Segmentarion fault
c) Compilation error
d) Undefined behavior

l?,x""ixffi',offiri 
value is checked in the

#include <stdio.h>
int maine

{
inti=0;
white (i < 3)

i++;

. print(',ln while loopVr,,);

,

19) Which part ofrhe program address space is pstored in the followine C iode?
#include <stdio h> 

-

int *p;

int main0

{
inti=0;
P= &i;
retum 0;

)
a) Code/text seprnent
b) Data segmeni
c) Bss segment
d) Stack

ill"lHi::.,i::#tput 
of the for rowi ng program?

mainQ

{

2l)Lvhat will be the output of the following C

#include <stdio.h>

int mainQ

{
eny-lolfNGE = 5, MANco, BANANA
=4, PEACH);
print("PEACH = yod\n,,, pEACH);

61
a)

b)

c)

d)

o

I

2

Compile error

a) PEACH = 3
b) PEACH = 4
c) PEACH = J
d) PEACH = 6

size- t strlen(const char *s)
const char *sc:

fo(sc = s; +sc!= ' \ O'; r-rsc)
return(sc - s) ;

a) Heap

b) Permanent storage area
c) Free memory
d) Stack

23)What will be the ouput of the following C

#include <stdio.h>

void main0

{
int a[2][3] = { t, 2, 3, 4. 5}:
inti:0,j=0.
for (i = 0; i < 2; i.r-r-)

for(=0;j<j;jr-r)
print("7od,'. a[i][j j);

a)

b)

c)

234s0
2 3 4 5junk

12345s
d) Run time eror

24) What will be retumed in the following C
code?

int a[3] = {2,,r };
printf("%d", ala[0]l);

PRINCIPAL
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Answer Sheet
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Student Name:

Semester:

Date:
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Question
Number
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10 35

11 36
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MockTest paper-l C +

Instructions: l) Answer a[ 24 euestions
2) Answer in Answer Sheet Only
3) Use rough sheets for working
4) Write your USN, Name, Branch, and Semester in Answer Sheet
5) Each question carries one Mark

Durations:50 min

1) Which of the following is the correct syntax of
including a user defined header files in Cr-r?

a) #include [userdefi ned]
b) #include "userdefi ned,,

c) #include <userdefi ned.h>
d) #include <userdefi ned>

3) Which of the following is not a type of
Constructor in C++?

a) Default constructor
b) Parameterized constructor
c) copy constructor

d) Friend constructor

4) What will be the output of the following Cr-f
code?

#include <iosheam>

#include <string>

using namespace std;
int main(int argc, char const +argvfi)

{

char sl [6] = "Hello"'
char s2[6] : 'rworld";
chars3[12]=51 *""+s2;
cout<<s3;

return 0;

)
a) Hello
b) World
c) Error
d) Hello World

6) What happens if the following program is
executed in C and C++?

#include <stdio.h>
void tunc(void)

{
print("Hello,');

)
void mainQ

{
tunc0;
tunc(2);

)
a) Outpuc Hello twice in both C and C++
b) Error in C and successful execution in Cr-r
c) Enor in C++ and successful execution in C
d) Error in both C and C+l

7) By default, all the files in C+r 61s opsnsd [n
mode.

a) Binary
b) vTC
c) Text
d) ISCII

PRli!CTPAL
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2) Which of the following is a correct identifier in
C+?

a) vAR_1234
b) $var_name
c) TVARNAME
d) Tvar_name

5) What happens if the following program is
executed in C and c++?

#include (stdio.h>

int main(void)

{
int new = 5;
print("%d", new);

)
a) Error in C and successful execution in C+
b) Error in both C and C++
c) Error in C+l and successfirl execution in C
d) A successful run in both C and C++

\t..t^^-., 
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8) What is the value of p in the following Cr-r
code snippet?

#include <iostream>

usittg namespacc std;

int main0

{
int p;

bool a = true;

bool b : false;

int x = l0;
intY=5;
p=((xly)+(a+b));
cout << P;

retum 0;

)
a) 12

b)0
c)2
d) 16

9) Which of the following correctly declares an

array in C++?

a) army{10};
b) array array[ 0];
c) int array;

d) int arrayfl0]i

10) What will be the ouQut of the following C++

code?

#include<iostream>

using namespace std;

int main 0
{

int cin;
cin >> cin;

cout << "cin: " << cin;

retum 0;

)
a) Segmentation fault

b) Nothing is prinrcd

c) Error
d) cin: garbage value

f f ) Which is more effective while calling the C#
functions?

a) call by object

b) oall by pointer

c) call by value

d) call by reference

12) What will be the output of the following C+r
program?

#include <string>

#include <cstring>

using namespace std;

int main(int argc. char const *argv[])

{
const char *a : "Hello\0World";
cout<<a;

retum 0;

)
a) Hello

b) World
c) Enor
d) Hello World

13) What will be the output of the following C++

code?

#include <iostream>

using namespace std;

int main0

{
char c = 74i

cout << c;

return 0;

)
a)l
b)J
c)A
d)N

14) What will be the output of the following C't-f
program?

#include <iomanip>

#include <iostream>

using namespace std;

int main0

{
cout << setprecision( l7);
double d = 0.1;

cout << d << endl;

return 0;

)

a) compile time error

b) 0. 100001

c) 0.1 I

d) o. r 0000000000000001

15) Which keyword is used to define the macros

i6 q++?

a) #macro

b) #define

c) macro

d) define

PRINCIPAL
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16) The C++ code
termination/behaviour

written under

which causes abnormal
of a program should be

block.
a) catch

b) throw

c) try
d) finally

I7) What will be the output of the following C.r_+
code?

#include <iostream>

using namespace std;
int main0

{
inta=5;
float b;

cout << sizeo(+a + b);
cout << a;

return 0;

)
a)25
b)45
c)46
d)2 6

l8) What will be the output of the foltowing C++
program?

#include<iostream>

using namespace std;
int main0

t
inta:5;
auto check = [=]0

{
a: l0;

);
check0;

cout<<',Value of a, ,'<<n<<endl;

return 0;

)
a) Segmentation fault
b) Value ofa: 5

c) Value ofa: l0
d) Error

19) Which of the following constructors are
provided by rhe C+ compiler ifnot defined
in a class?

a) Copy constructor
b) Default constructor
c) Assignment constructor
d) All of the mentioned

20) What wi be the output of the following C_+
code snippet?

#include <iostream>

using namespace std;
int operate (int a, int b)

t
return (a * b);

.)
float operare (floar a. float b)
I

retum (a / b);

)
int main0

{
intx:5,y:2'
floatn=5.0,m:2.0;
cout << operate(x, y) <<"\t,';
cout << operate (n, m);
retum 0;

)
a) 10.0 5

b) r0 2.5

c) 10.0 5.0

d) 5.0 2.5

21) What will be the output of the following Cr_r
code?

#include <iostream>

using namespace std;
int main 0
{

int a, b, c;
a= 2:

b=7;
c=(a>b)?a:b;
cout << c;

return 0;
I
,

a) 12

b) 14

c)6
d)7

22) What is abstract class in Cr+?
a) Any Class in Cr*+ is an ,U.1r*i 

"tur.b) Class from which any class is derived
c) Class specifically used as a base class with

atleast one virtual functions
d) Class specifically used as a base class with

atleast one pure virtual functions
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